EARAZROREIERT — 2 N—XBISY —F 20175F9B6H (k) 13@E%ZHE2H

Gl 533 3 ¥5R3% (w8 | 1mEmml - |5 6) v s
[AE£] 1% :250,000” ~ 23#%&:63,000”  33%&:25,000M”  43%&:15000 M .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i 6l X7/ T2 # 3 suélﬂ(i)?ﬁ’é 1:32.7 5-7-4-1 |39.2| — | 1 | 477 LU%%EE%E@
. — 7
L:OA—T X124 B RvANT a1/ ) (49) AR R
. S 4t 3 | DNEEFIE 1:33.2 4-4-5-3 | 39.6| — 4 399 |EHEX (BHE)
2 3 hb)—=T4> 54.0 (2 1/2) +3) Eﬁﬂg
RN INYT— BT hESY hE =
317 7 Jr{ Y —O—X it 3 EJ%?M (1732,72) 2-2-2-2 [ 39.9| — 3 462 Eﬂﬁ;ﬁ (BEE)
QTR A= B ATELO-X )| s
411 | T7TFM2R f 3 zfgﬁ* 1:(323).6 6-66-4 [39.9| — | 2 | 447 E%gj (BHE)
RN—ErTr— BIERTR-L @) 1575054
5 o | AEY—~NHHZ H o3 gig%?zﬂﬂrs 1;(354).7 8-8-9-7 |40.6| — | 6 | 464 %E;@% /(ﬁé%)a 5
LT HA T by h— BAEY—LFq— ) | gmx @ik
6lglo| FxAZ #H 3 Sjgfgﬁé 1(:13/42.)8 7-5-8-7 |40.8| — 5 429 gg?i z&(%EE)
LT RYAYF -5 B4 1Y L—2 (-1) Eialll=Ar e
d 1 DTS f 3 | HEAE 1:35.4 1-1-1-5 | 422 — | 8 | 42 132%)&%3 (?f&)
. 3 K= 7
Qi UTY BALITAH @ 0 Lgx Za
8l5l5| FITxT 4 3 SF(};HS%@ 1(:33/?4.)6 9-9-7-6 |41.7| — 7| 469 E(?;jﬁﬁju,v(%f%)gyay
X7 T—= R VXTI T—K BYIWN=TTk (+8) BH OE
— B # 3 | ARz 1:36.4 3-3-3-7 [43.0| — 9 463 |SHREEX (BHE)
olglg|FV—TxUAHY #53.0 ) (o) | SRR B
L:FzV—U59> B:FrU—N—/N— BEET 7L
® I—F—@EBIERL
|S=7r= 4,7,8,3,6,1,9,2,5
Ao=5"= 4,7,8,3,9,1,6,2,5
3T—7— 4,7,8,6,3,1,5,9,2
43—+ — 6,7,3,1,4,5,(2,8,9)
[ RN
B 6 140M 794K 3-6 160 & 3-6 630/ &R 3-6-7 530M
# B 6 100 6-7 140H B E 3-6 620 EE 6-3-7 1,700
3 110 3-7 300M B H 6-3 750
7 1009

ABICOVWTRDTEEERROODE. TR LIV,



